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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting guestions.
There are TWENTY questions printed both in HINDI and in ENGLISH.

All gquestions are compulsory.

The number of marks camed by a question/part is indicated against it

Answers must be wntten m the mediem authornized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions No. 1 to 10 should be in 150 words, whereas answers to Questions
Mo. 11 to 20 should be in 250 words.

Keep the word limit indicated in the guestions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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W Fen faoma & qm adum w6 amaen | =1 $ifso ) (se 150

W=l # F)
Safeguarding the Indian art heritage is the need of the moment. Discuss. (Answer in
150 words) 10

Wime Sfoee i e A oA R S il % gl o Aeed S e
Fifsm | (s 150 =51 7 )

Assess the unportance of the accounts of the Chinese and Arab travellers in the
reconstruction of the history of India. {(Answer in 150 words) 10

AT wd § e T % e wee W W wen | (I 150 v E §)

Throw light on the significance of the thoughts of Mahatma Gandhi in the present
times. (Answer i 150 words) 10

arm wefien AafEes 9owe wuEl (g, gw, A, e, ) 6 sEEEa =61
§ 7 dg AaiEeT # 5 JeR eEs & 7 (S 150 v A §)

Why is Indian Regional Navigational Satellite System (IRNSS) needed 7 How does
it help in navigation 7 (Answer in 150 words) 10

WA Akl Wy S AaHl A B e g s A w7 (I 150 = A D)

Why is India taking keen interest in resources of Arctic Region? (Answer in
150 words) 10

Hew wm F afonfia $ife ok o fedfel # wmd sfer @ owe fifvo
(R 150 w=1 H ¥)

Define mantle plume and explain its role in plate tectonics. (Answer in 150 words)
10

wadl wiktEfad W ‘gEEEl (3 W) & feer & wn-sm oform gm # 7
(I 150 /=51 7 3)

What are the consequences of spreading of *‘Dead Zones® on marine ecosystem ?
(Answer in 150 words) 10
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10.

12.

13.

14.

"ot e 7E-wE el ok wEA w6 o a9 o 2 | s, W i oy
SRAT F IS G o W v #1 fonft SR ) (3m 150 W=t § F)

“Caste system is assuming new identities and associational forms. Hence, caste
system cannot be eradicated in India.” Comment. (Answer in 150 words) 10

RS W TR e sepem & fafie s & S % g, fedan
ST Wt faemr @ | FRo wege W g we SR | (SRO150 9= # B)
‘Despite implementation of various programmes for eradication of poverty by the

government in India, poverty is still existing.” Explain by giving reasons,
(Answer in 150 words) 10

e 1 Wt dee, sifrtaTEr F e w8 R me
H T & 2 ==l ifim | (IR 150 o=t & )

How the Indian concept of secularism is different from the western model of
secularism ? Discuss. (Answer in 150 words) 10

At A5 wEmq & A § wkE siEem 9 s sgwer v R fel o
=4f & | (S 250 9= H 3)

The Bhakti movement received a remarkable re-orientation with the advent of
Sri Chaitanya Mahaprabhu. Discuss. (Answer in 250 words) 15

=t & & w1 o & wam # 7% o= = fmi, g # sefermen & B o
B A R (SR 250 =1 H B)

Discuss whether formation of new states in recent times is beneficial or not for the
economy of India. (Answer in 250 words) 15

i o @ wE & Ry i s gofEet # 9 o d 7 s ¥ T w aed
Hiegas TeaE W ufcfia w@ § awe @ ¥ 7 (I 250 sl H 8)
Why indentured labour was taken by the British from India to other colonies 7 Have

they been able to preserve their cultural identity over there ? (Answer in 250 words)
15

e H sraerdt (feweftfon) e s gt @ ses o s e o &
wed & A o e R waEr sAEn s oA & 7 (S 250 wedt & )

“The ideal solution of depleting ground water resources in India is water harvesting
systern.” How can it be made effective in urban areas 7 (Answer in 250 words)
15
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15.

16.

17.

18.

191

20.

Hieht @ @ fenfim 9 87 WRa # weedres o wened o e ®@
waET=d | (SR 250 w=) H T)

Defining blue revolution, explain the problems and strategies for pisciculture
development in India. (Answer in 250 words) 15

Wi & s el @ 5 T € 7 sienfis wfesl @ iR =0 T e
wia s S aww | (I 250 9=t # F)

What is the significance of Industrial Corridors in India ? Identifying industrial
corridors, explain their main characteristics. (Answer in 250 words) 15

arE # e Pt 5 sEwe’ & fooge weial @ sem Hifi
Rl area & fao, wfeRw, wwdm @ et §owwl @1 e i
(Z=e 250 w=al A §)

Mention core strategies for the transformation of aspirational districts in India and
explain the nature of convergence, collaboration and competition for its success.
(Answer in 250 words) 15

gy # wfeamat & wieeE 3, FreR avnhes e f Al ¥ 52 @ et
81 fr 2 ) sy fEw @ wfta fag fife )| (I 250 W= A OR)

“Women's movement in India has not addressed the issues of women of lower social
strata.’ Substantiate your view. (Answer in 250 words) 15

‘o A T e o & B Aedte wReten wiieen F1 @gE 49 €, weg e
v o £ 5 wets wee & wad e wiestaes fafiead g5 B g ¥ | gee
Fifed | (FW 250 w=t H §)

‘Globalization is generally said to promote cultural homogenization but due to this
cultural specificities appear to be strengthened in the Indian Society.” Elucidate.
(Answer in 250 words) 15

il AT At orfen e ¥ o SE 9 s ® A s e 3 R we
2 | g el F1 wegE #@ g0 Ok dfm | (SR 250 v H )

‘Communalism arises either due to power struggle or relative deprivation.” Argue
by giving suitable illustrations. (Answer in 250 words) 15
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